FEERRREMFEIFITH B KRR AR

2016/12/11
Li—C | L—%—X |[Tomovz®)| s1&¥h | oxBC | AL® | BEE | Roobm | BN, | mxaz | ew
@) @) O - 6 — 6|14 — 13312 — 331
P — 1o 312 — 1012 — 1] (2) ( 0) (1) ( =19 ) 2
4 — 3 0 6 5 — 2 5 — 2
82 — 89| 43 90| 91 — 77196 — 75
X @) @) — 5 — 7|13 — 15/328 — 343
tomosze| 1~ 0 3|2 — 12 — 1| (0) ( -2) (-2) ( -15) 3
3 — 1 6 4 — 3 5 — 2
89 — 82 57 97192 — 8711900 — 77
@) @) @) O - 12 — 024 — 1367 — 188
s1pdm| 3 — 03 — o 3 - 3 — 0| ( 4) ( 12 ) ( 23 ) ( 179 ) 1
6 — 6 — 6 — 6 — 0
90 — 43) 97 — 57 90 — 37190 — 51
x x @) — 4 — 8|9 — 17|281 — 337
zozBc| ' — 2|1 — 0 3 2 — 1| (-2 ( -4) ( -8) ( -56 ) 4
2 — 5 3 — 4 0 6 4 — 2
77 — 9 87 — 92| 37 90 80 — 64
X X X — 3 — 9|6 — 20/267 — 356
SLB) 1 — 2 1 — 210 3 1 - ( -4) ( -6 ) (-14) ( -89 ) 5
2 — 5 2 — 5 0 6 2 —
75 — 96| 77 — 90| 51 90| 64 — 80

1/ 11 R—=2




K% FORRREREMEFI77 xtindk
EH: HAE(WL1-C)

HEES: 1 JL—F—X vs TOMOY X(B))
=15 IFNIRAK -Ytv4-

L1—C

IL—xF—X 2 — 1 "OMO X (B

BAR ERZxE 15 — 12 EE WF
D1 2 15 — 11| 0

XKl =F — Ff B3

fH E£F= 15 — 13 MR =0
D2 2 9 — 15| 1

ILER LD A 1 — 8 RFF FE

EH EF 10 — 15 Eff HE
D3 0 7 — 15| 2

Fik #5 ] — hif ®F

2/ 11 R=



K% FORRREREMEFI77 xtindk
EH: EFE(L1-C)

HEES: 2 (S1HITH vs IZTODABC)
=15 IFNIRAK -Ytv4-

L1—C

S1HIH 3 — 0 [CDABC

2 T 15 — 9 #ER &F
D1 2 15 — 41| 0

AR EBRZxE — BIlA HBHZEF

RA = 15 — 7 TR OHCH
D2 2 15 — 10| 0

FE =H — ) ER AEIL

=H BH& 15 — 4 TR #EF
D3 2 15 — 31| 0

LR i ] — KT £

3/ 11 R=



RE4: FOIERRAXEMEIFT7 xHnE
e H{AE(L1—-C)

HEES: 3 JL—F—X vs 5LB)
£15: IIFNRAR-YtU4-

L1—C

)l/_$_x\‘ 2 - 1 /S\C(B)

EH EF 14 — 15 It K5F
D1 1 15 — 12| 2

Hik 5 7 — 11 FH FIfE

fH E£F= 15 — 10 B (XBHH
D2 2 15 — 10| 0

IEZ NDH — . R AEY

BAR ERxE 15 — 8 KK fiF
D3 2 15 — 9| 0

KL =F ] — ERE T

4 /11 R—=2



RKE4: FOIRIXERESME)IF7 ik
H: HEAE(L1-C)
HEEE: 4 (TOMOYAR(B)vs S1HTH)

=i5:

D1

D2

D3

IR NRAR—vtss-

"OMOY A(B

R FIE

Rl S

=5 WF
FEfR L

MR K
il R

L1—C
0 — 3
7 — 15
8 — 15
8 — 15
5 — 15
15 — 11
7 — 15
7 — 1

5/ 11 R=

=2H #BX

LEIR FFE

AF =
FE =5

R #&Th

AR BEHEE



RE4: FOIERRAXEMEIFT7 xHnE
EH: FFEE(L1-C)

HAES: 5 (IZMABC vs ALB))
£15: IIFNRAR-YtU4-

L1—C
(2D ZBC 2 — 1 S\L(B)
TR EF 15 — 6 KK i+
D1 2 15 — 41| 0
FH ERF — Ik k5F
R H<CH 15 — 12 FH FlfE
D2 2 15 — 12| 0
ZER BHF — ) R AEY
A3 Bx 11 — 15 BN (X5H
D3 0 9 — 15| 2
KA £ ] — ERE T

6/ 11 R=



K% FORRREREMEFI77 xtindk
EH: HAE(WL1-C)

HEEE: 6 UL—F—X vs S1HTHY)
=15 IFNIRAK -Ytv4-

L1—C

IL—xF—X 0 — 3

BAR ERZxE 5 — 15

D1 0 12 — 15
XKl =F —

EH OEF 6 — 15

D2 0 4 — 15
Bk BS —

H E=&= 10 — 15

D3 0 6 — 15
IHEZ LV\DH —

7/11 R=

=2H #BX

LEIR FFE

AF =
FE =5

RN #&Th
AR BEHEE



RKE4: FOIRIXERESME)IF7 ik
H: HEAE(L1-C)
HEEE: 7 (TOMOTA(B)vs IZ(DZBC)

=15 IIFJNIRAKR-Ytv5—

"OMOY A(B

] H
D1
walii

ZHIE S
D2

o 4l

D3

ySIES

Ex

i1
"] F

wF

EpAN

11—

8/ 11 R—=

L1—C
2 — 1
12 — 13
13 — 15
15 — 12
1 — 8
15 — 13
11 — 15

9

(2D ZBC

ZIR 1§F

=B EBF

FHP EF

BR &F

BiE HBEF
BR AEI



RKE4: FOIRIXERESME)IF7 ik
H: H{A#E(L1—C)
HEES: 8 (S1HIH vs 5LB))

=i5:

D1

D2

D3

IR NRAR—vtss-

S1&%H9H

=2H #BX

EIR FFE

AF =
FE =5

RN TS

AR BEHEE

9/ 11 R=

L1—C
3 — 0
15 — 7
15 — 5
15 — 9
15 — 9
15 — 14
15 — 7

ASL(B)

AR #EF

FH Flie

BA (XoH

xE T

Lkt K5F

R #EY



K% FORRREREMEFI77 xtindk
EH: EFE(L1-C)

HEES: 9 UL—F—X vs IZCDZBC)
=15 IFNIRAK -Ytv4-

L1—C

IL—F—X 2 1
fH E= 15 9

D1 2 15 7

ILEE LDA

BH OEF 8
D2 1 15
Bk #5 8
BA ERx 15
D3 2 15
KL E=F

10/ 11 R=Y

19
11
11

11
13

(2D ZBC

Bl HBEF
BR AEIL

=B EBF

FHF EF

flR HH
A+ R



R4 FORREREMEIFTT ik

H: H{A#E(L1—C)

HEEE: 10 (TOMOI A(B) vs 5L(B))

=15 IIFJNIRAKR-Ytv5—

"OMOY A(B

Ff B
D1

fEhe WiT

MR R0
D2

]IHF FNxE

Et HE
D3
FE e

1M/ 11 R=

L1—C
2 — 1
15 — 14
9 — 15
6 — 11
19 — 6
1 — 11
15 — 10
15 — 10

ASL(B)

lE K5F
xE T

AR #F
K #EY

BA (X5H

FH i



